Hardware Included

] 3/8" % 1-3/4"

516" x 2-1/4" Carriage Bolt
Carriage Bolt

.

o) (O

3/8" Washer
5/16" Washer

(
@
!.

3/8" Hex Nut
5/16" Hex Nut

pm—

3/8" x 1-1/4"
Carriage Bolt

NOTES:

3. DO NOI SCALE DRAWING.

| 6

| 2 1

Tools Required

1/2" & 9/16"
Wrench

B

1/2" & 9/16"
Socket Wrench

Note: Optional Surface
Mount Hardware:
5/16" x 5-1/2" Concrete Expansion
Bolts Not Included.

WARRANTY: OCCOutdoors, Inc. guarantees all items for one full year to be free o
defective. Items specifically not covered by this warranty include vandalism, manmade or natural disasters, lack of maintenance, normal weathering or wear and tear due to public abuse.

PartNo DESCRIPTION

2 x 10 Brown Recycled Table

Dimensions

BRN98-210-T.| ™ "piank (87). 2 x 10 Ceder

CDR6-2x10-T, g
*|Recycled Table Plank (8), 2 x
T |CRNSE2XI0-T.I" 10 Green Regycled Table 3
2%10-T 7 Plank (8'), or 2 x 10 Grey
Recycled Table Plank (8')

CDR96-2x10- | 2 x 10 Ceder Recycled Seat
5, BRN96- Plank (8), 2 x 10 Brown

) 2x10-5, Recycled Seat Plank (87), 2 x 2

GRNS6-2x10- | 10 Green Recycled Seat

5, or GRY96- | Plank (8'), or 2 x 10 Gray

2x10-S Recycled Seat Plank (8')

3 |FVEBTC | W23 frame-asem 2
4 33.06.0005 BT Sf?z"igca)rnage Bolt 1
5 23.06.0032 3B x 1—1!;’;n{(3:)arnge Bolt 2
56" x 2 114" Carriage Bolt
6 33-06-0006 (Zinc) 26
7 33-02-0002 3/8" Zinc Plated Washer 3
8 33-02-0001 516" Zinc Plated Washer 26
9 33-01-0002 3/8" Hex Nut (Zinc) 3
10 33-01-0001 516" Hex Nut (Zinc) 2%
11 01-04-0027 center ¢ channel 1
12 8" wood table brace 2

13 P01.04.0169 recycled 8" plank sfiffener 10

64 15/16"

ip
detects in workmanship or materlalsw when installed and maintained properly. We agree to repair or replace, any items determined to be

|. INSTALLATION TO BE COMPLETED IN ACCORDANCE WITH MANUFACTURER’S SPECIFICATIONS. OCC Outdoors Products
2 ALL DIMCNSIONS APC CONSIDLPLD TPUL AND PCTLLCT MANUFACTUPLP'S SPLCITICATIONS

PH: 1-800-821-7670
EMALIL - occcontact@occoutdoors.com

This document contains OCC Outdoors Proprietary Information. No intellectual copyright or Fax: 1-317-862-9422
license is granted by OCC Outdoors in connection with it. It is delivered on the express condition
that the document and the information contained in it shall be treated as confidential, shall not be .

used for and purpose other than that for which it is hereby delivered (the use and maintenance of . Part #: OCC-238-R8
the product supplied). It shall not be disclosed in whole or part to third parties and shall not be
duplicated in any manner without OCC Outdoors's prior approval.

Date:  4/12/16 Page 1 of 2

OCC Extra Heavy Duty 8' Picnic
Table with Recycled Plastic Planks,
Powder Coated Frame, & Walk
Through Design. Can be Portable or
Surface Mounted.

3 [ 7

[ 6

5 Y 4 | 3




| i

730 7 98eg 9U-8€7-0D0 ‘# Hed
TTH6-798-L1€E-1 X WOO'SIOOPINOII0M)IBIU0III0 - TIVINA 0L9L-178-008-1 :Hd S19NPoId S100pInQO DDO

daeMpIeH paynadg Suisn
S397T 8€T Y} 03 syue[q dog, ,9 3y} pue syue[] IedS ,9 Y} YIeyny

iz dais

drempael pagoads o) Sursn s3]
8€T Y} pue [puuey) D I9JUID) Y} 03 SIdBIF POOM ,9 Y} Yoeny

i1 days

:SUOTIONIISUT A[qUIDSSY

A 3} $v m <




	Cut_Sheet_Template
	2nd. Page Template



